Inecuacionesy cuadraticas

Completa los espacios en blanco y marca la alternativa correcta segun

sea el caso:

Ejercicio @

x:2-2x+8<0
x—2)(x+4) <0

x—2=0 x+4=0

Ejercicio @

x2+5x—_50>0
x=5)x+[ p>o0

x—5=0 x+D=D

x = x =
P.C={ ;LD

Graficamente:

a) C.5.:<2:4 >
b)C.5.:<-2;4>

c) C.5.:< w™;—4] U[Z;CO" >

dC.5.:.<-4,2>

Graficamente;

a) C.5.:<-10;-5>
b) C.5.:< —-10;5 >
¢)C.5.:< ®»7;10] U [5;c0* >

d) C.5.:< w0~; =10 > U< 5;00* >
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Ejercicio <1>

x4+ 7x4+12<0 Graficamente:

E+ D+ <0 " /,-\
x+D=0 x+4=0 o :é ; D |

P [D ,[:]} a) C.5.:[3;4]

b) C.5.: [—4; —3]

c)C.S..< »;—4] U[-3;00%" >

d)C.5.:< 0™, =3 >U< 4,007 >

Ejercicio Q
x2 —3x—18<0 Graficamente:
(x+ D(x+3)<0 - ﬁ\ —

p.c={ )i ]} a) C.S.:[-3;6]
b) C.5.:[—6;3]
¢)C.5.:< 00o~;—3] U[6;00* >

d) C.S.: < 07;—6 > U< 3;00% >
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